
? 









Find the option which should replace (?)

96 + 16 = 42   

89 + 23 = 78

63 + 45 = ?

(A) 18

(B) 28

(C) 38
(D) 48



Find the option which should replace (?)

6 * 3 = 13   

5 * 20 = 96

19 * 11 = ?

(A) 191

(B) 194

(C) 207
(D) 209



Find the Missing one  (?)

(A) 2

(B) 7

(C) 14

(D) 28

3 7

2 4

8 3

1 7

1 6

2 ?



Find the Missing one  (?)

19 (36) 13

37 (81) 28

43 ( A ) 38 

(A) 49

(B) 25

(C) 34

(D) 64



Find the odd (?)

(A) 35 : 58 : 64

(B) 47 : 68 : 81

(C) 52 : 6 : 49

(D) 61 : 24 : 49



Find the Missing one  (?)

86 + 6 - 10 = 8

36 + 10 - 8 = 18

0.5 + 2.5 - ? = -0.44

(A) 1.5

(B) 1.3

(C) 1.6

(D) 1.4



Find the Missing one  (?)

SING = 23

DEEP = 10

FOUR = ?

(A) 21

(B) 32

(C) 36

(D) 16



Find the Missing one  (?)

JAR = 181

HER = 149

SIT = ?

(A) 298

(B) 389

(C) 413

(D) 294



Arrange the given words in the alphabetical order.

1. Rhetoric
2. Regret
3. Resignation
4. Record
5. Ratchet

(a) 2, 1, 5, 4, 3
(b) 5, 4, 2, 3, 1
(c) 5, 2, 1, 4, 3
(d) 2, 5, 1, 4, 3



Statements: 
All parrots are crows. / सभी तोते कौवे हैं।

All crows are robins. / सभी कौवे डाकू हैं।

All robins are swans. / सभी डाकू हंस हैं।

Conclusions: 
I. All parrots are swans. /सभी तोते हंस हैं।

II. All swans are crows./ सभी हंस कौवे हैं।

III. All robins are parrots. / सभी डाकू तोते हैं।





Find the TRIANGLE :-

(A) 58 
(B) 56 
(C) 81
(D) 29



A dice is thrown four times and its four different positions are shown below. Find the 
number on the face opposite the face showing 2

A. 3
B. 4
C. 5
D. 6



Find the right option (?)

Students of Law , Students of Science , Men (लॉ के छात्र, 

ववज्ञान के छात्र, पुरुष)



Find the option which should replace (?)

144 : 10 :: 169 : ?

A.14
B.11
C.13
D.12



Find the TRIANGLE  :-

(A) 14 
(B) 15 
(C) 16 
(D) 17 



Find the right option (?)

Bedroom, Kitchen, House (बेडरूम, रसोई, घर)


